@ £-B3D 0f Tovzem at loweat
Potn £ . )

~ N

ya=X¥

"



92
- ™M\
— Y - =
T -7 »
2
— —~+ YV
al ‘m% L
: hH
g+ g0
_ 1yx9-8 C
25(7L/XC)'"@7Q\‘?
L TYTET

e
- 72852 + Auy.yz

= TuxI8 +

T = 1069-67 N

() Are YES, Ving W breale.




20D =
_ QVL—W"\) %@BQ@ 4 QQ‘Y\"W‘)%

Eq _ LQ,@SG):))

(.

g7y 1.8 COSO £ 2LxGT
xq-&

Jrea- - o5

[RoO =



1900 = 950.6 Cos0 + )OIOIEoc;, 3 4—%6@3@7

~ 9S04 (oS0 - 1159C + 15208 Co30

12796 = |6|58.(;C08(9

Co80 = 0-7%
Col (0 ?'7)

\@/fgm

(D Py




—_

(Uﬁ% oy track =

gl”‘f\ 85(0 = ’Eﬁ
nc
S IS
_ /
[‘T\gg
e et i
from  Work BN e
Oge = AU O
NS T nu £ B8
— ¥ rpS X Y86 = T h g
p /Ag‘l ] }7%3 lwﬁm
— M 7'8)¢Cﬂ£@50>¢ $<C.07 = -9 sl
L
4 Q‘S‘Zo)gj

2



U303 L0 ==5576 + ST/




